
Tlitqfr
<REf&{ TRWTm-6frc<"R

1frv-++
35-65, ftaqrX4ffftr6 qffi,51-4'1 5pqe

tE{fl<-sT'tl

qqft +-fi{.I/:osAo )E- )b/

EI'IS

rolfr{ c t:/:o/qo:uR r

qt?Bfrr fr{t{ fir-q"$ (rsr{r),
frefrfr,<fr{sr

fr+s r "qErsrR's" fr'{ ffir.ilq<ifi'qdqqft r

{Er- qFIR-)q.\c).o)B.oq.oo.)bcc.\o)1Rl

q\?l"Fr ft-Etr'f{ ersl{ \e sptf{q +{"tm< s{-g{trrq;r{ cq$Ift Erfr'.ift (fi{H), fr,{&fr,
<Rttq ffirq, <frtfq qsm{ q?rym$g rrstfr'o, s-ff< rqlr qeqq Erq{ {fcffi e( qlTrrtft-r
<1-<r q{tr (e8,)loxelx\) =lc,lb,cbol- late'{E+ qs qFH CIqt{ fu qtFt) BtO< sd
qgft ffi 16 wlrm ftco qtfiD <r& r

ffi-!
) r llqr<sufrEqlftsffi+rmqsrr<"rtq{tioftE "tRr.fiffit'il sc< r

\ | qq frrq< Blof qr-r^--"Ic( qfu{ E<T ET q{fr/,rt'$ Tr-f,{fr qA 116.( {qE! qf{<q s <;m reffi
e-rfo evm"t< "r< ft-q qR'c.tlq-ffitril << i

e r ]giftTg.E{qtrg{ql(j[gTlj (s) Es)l{ (Tr"ffiq'flT (bo-be) <Kq ),oto/- ast, (.r)
e&Rs c<tqtt \e-lEI <t<n t,{uol- iffi r qr(mti =e,eoo/- ($E fu{ q|qts fuq19) it+T r sm
qtftr.r=Ic< qqqr{ q'ril qg 6fi "fi\34 ?5$6q st +6ry1!I5rr* er-< ft-q 1frrfiTc$a sr{ r

Etrrrw q<u to)E-5b sd <qr-<< q<srcfi q{trr{ <ksr6{ q\evm qd fr-slrrm <rsti-{
E{TE {ls qF\ia 6sls q\-e ls ) ) o ) "qfTCEtR-r" 

"ttco 
<-+qTe qd <s e Tr$ frfc cr< r

qlv {q'ff-?frElE-f (qd) qr{rl{{ q'{m'Fi-{ <Inrq I

'qr<-o *-qdEe-r/a.o)u-)b/ t-od h t)
ry{$fft <r<'{f"rs (qd) rqe' Elfip

frqGfr,trrqlr

urfr+ c z- >/a/>l-
st{ref cEfrsqrEl fffir'fst{&frEffi) c-

) I E{I{qrd"|ft (fi{.t), frqfufr, Er$T I

a. I fuT{fir-sr, fr.{&fr, Ers[ r

e r {E[-cfD-{ (c(q|"rq), fr.{&fr, Erst r

8 I {{rlft eIffi (fif.t), Re&fr, <fr.itq srq, <kfiE r

a r _- tnql qffiqE (Erd) :I(qfqcK {-q-$tfr <rfuqEsffi, fr,{fufr, ufof r

^{ sffitt-< cErEt{f{, qrtffi crrq, frefrfr, Erof (frq&fr'r srxTqltcB ercrc.fiT q-ff) 
|

q r q-fir rfis qeq{ qr-{t{ {tffi, q<rriTElg r$$ffr"r, r{{fft Ed,.iff (fi{"t), frq&fr,
<fr{rq 6qH, <fr'tlE r

E r qfu'{sPi 
r


